SUUETE

ICTALT
FINAL TEST OPEN BOOK NO LAP-TOP (100 menit)

Name: Sucyani Prowita Sact Student ID #: 12 0 W95
You do not need any extra paper, write down all your answers right here | Use the back page if necessary.

1. Why should we learn about ICT (70 points):

ICT 1S Infocmation Communicakion Teachiog , (b Uery WnPoctant €0 leacn because.

0 Oue doutﬁ activiky we Neer stop commuaicative and vse lafocmnation techn

Nology:-LCT ace bung ek asin \y Lsed 10 cdvcakon o bokin tne devdoped and
woeld , 10 ocdec to ceac\ ouvt te chlldcen fromn Poor acd emote Coananunibles

Pcoutde tlneen with o qvahkg tdvcakion , and 3e_n(mt equip botlh & persen

0 onothher Pecson .

3. List 6 (six) examples of the teaching format (5 points):

Talk and chalk Mastec ApecenkiCe PecSenkakron |
Wl CPrackice, kesk, txom
4. List 6 (six) aspects to support the teaching skills (5 points):

Experience Koowledae Tednanque
Skul.e W\ etlne doloa
5. In one of your group assigments, your group has made a visit to an ICT Facility For education (70

points):
(2) Name the ICT Facility your group has visited:
b) List 2 (two) examples of hardware, software and humanware aspects at the ICT facili

hardware aspects software aspects Humanware aspects
Ask dcwes | Ulawx ) renPobesr OPecakors
disPlay Screen \odd\e > Pokec Eaqinees

6. Your group has interviewed a practicing teacher to make an assessment on her/his mastery in ICT
and how he/she uses the ICT to support his/her job (70 points):

(a) The teacher's name: _SuacnS\C 9. Kom place of work: ANV Glwauwng Saci
(b) His/her mastery of ICT is E, circle only one answer):

* Extra Ordinary * Good * Not Quite Good
(c) Explanation of 6(b):

HlS mOS\ﬁfg o¢ \CT\S Uo.rj 5?@0\ QS UsSalo E’ij objecbtuz.s Cor eac\n

iccxs\c o< Co?o\o\\-\bg HQ \S'. U‘?{B A\kxge.n’\: also . ?rOULdQ t\ne Pco%O‘cj
ko kine pragran Aesignecs and (odics.

# i i [
IIIIIIII

rl ‘q ‘I""ll L 1 r_‘ :' IL ?1— ;'- ‘l fﬂ- 2 Ip"": :,.,.F r 1*:_:";
!:..1 Li 'h.-:.‘. I_ 'I'_.f i L t ; | S L'_n :.._-’r el



ICTALT
FINAL TEST OPEN BOOK NO LAP-TOP (100 menit)

Name: _%_Uf_‘g\?cw__&ﬂ;_@_aﬂ_—_smdent ID#: _\& Bo 19s
You do not need any extra paper, write down all your answers right here ! Use the back page if necessary.
7. A society where the majority of its population earn their living as information workers is called an
society (5 points). What do Information workers do for living? (70

points) Answer. They Peodu Ciag  (0pocmablof | Poolessiag Lagpceakion
Austeilovbiog o coconabloe gad Peodocing the e coccnakbon ‘cec_lnr'o\.oscj

Examples of information workers are (give three more): Teachers, \ecksec ,Ceseacctner s,
OCO LN LADS - Manaagal , Sec felkac

8. There are 3 (three) levels of Information Systems, from the lowest to the highest ( 70 points):
1. \Nanval - based Information Systems

2. Comn gu‘ccr - based Information Systems, and
3. et s - based Information Systems

8. What mode of communication did Shannon and Weaver's model of communication
originally represent? Answer: __ S\ plex mode. 2 (two) other modes of

communication derived from the same model are: (a) __Tu\l Ougg,ﬁ:x
and (b) \(\a\g Dug\ex (70 points)

9. it of information is ©\T stands for (an abrreviation of)

Qacy Oxek% ? (5 points)

10. Create 16 (sixteen) different “4-bit binary codes” to identify 16 different persons (70
points):

E: 0100 I 1000
F: 0101 |
C. 0010 |G o110
D: oo\ H.owv1 L 1orm  [pt111

11. Write down your answers below, or use the back page if necessary:
(a) If each letter or character is coded into a 10 bit binary code of information, every word is made

up from 5 letters in average, and the content of every page is about 500 words in average, how

many bits of information are there contained in a 250-page book? (5 point).
(b) How many books about the same size as described in 11(a) can fillup an 8 GB Flash Disk? (Note: 1

B(yte) = 10 b(its), so 8 GB = 80 Gb)(5 point).

Answer.
11. (@) O bk Wocd : $ ©) 8GD:80C1®=8o.000 MB

Conkent = Soo wocds Clooole S\le = bas g
\ woed = § \dkkecs

’VO\C\\ - Qo.000 MH -\2.600

-’_______-—-——-—-—-—-—"

| Lekbee = 10 0k 625 VI8

A0 xSoo xS X110 bk = 6..250. wlale,



